SHEFERERN R APHIR:

hEEIURLIEESDRHNEFERENRAAGFHRRIE, FTROEEYTY,
BEMERIZANFHBASNSIILTFHRICEOFERES

) ERE = (i) B .
ABES T AR5 E (B SHEEE LRSS
ER 7,981 (kw) 40200 (kw) HEEUHEEEE2—
AV 4286.1 (Q) 1,0136 (2) Nl
PN i 0 (km) 1,335 (km)
THR|BERAE 32,080 (km) 10,983 (km)
EE% BEYE 14,031 (km) 2635 (km)
g INIEYE 10,064 (km) 0 (km)
“BILRFHHE (BA{s1:kg-CO2)
SEDX 7 EHE R —RILRRE S
5 4,020 (kw) 0.393 1,579.9 (kg-CO2)
AV) 10136 (Q) 2.32 2,351.6 (kg-CO2)
a5t 3,931.5 (kg-CO-2)
IV E (B4 :kg-CHa)
REIX S EHE b FRRERSA EE%: Tiep
@ /NIERE 1,335 (km) 0.00001 0.0134 (kg-CHa)
BERHE 10,983 (km) 0.00001 0.1098 (kg-CHa)
B2EYE 2,635 (km) 0.000011 0.0290 (kg-CHa)
At ES 0 (km) 0.000015 0.0000 (kg-CHa)
it 0.1522 (kg-CHa)
A= 0.1522 x HhEKE S 1E (%R 58 28 = 42616 (kg-CO-2)
—&ﬂ:;gimtﬂé ~ ($1ﬁ_:kg—Nzo)
REIX S FH= FEER — Rl =P =
La-/NEFERE 1,335 (km) 0.000029 0.0387 (kg-N:0)
BERE 10,983 (km) 0.000022 0.2416 (kg-N:0)
XEY 2,635 (km) 0.000022 0.0580 (kg-N:0)
INETE 0 (km) 0.000026 0.0000 (kg-N:0)
=i 0.3383 (kg-N.0O)
—BiE—ZEREEHS 0.3383 X HhEK R R 1L (% %8 264 = 89.3112 (kg-COz2)
NAraz)LAoh—RoH E
. . 6 & xHHEHK 001 = 0.06 (ke-HFC)
o S A 0,060 x HERIEILEY 1,900 = 780 (kg-CO2)
HH=
BEMNRETANELHERVEBHHE (Bifii:kg-CO2)
N S5 E AN [ SR
BENRNR I wrgne BHIE6] EREhE BRI T ASEEL
Y (A 14,373.5 96.2% 3,931.5 95.8% 27.4%
AR 13.1 0.1% 43 0.1% 32.8%
—BRIEZE%R 395.6 2.7% 89.3 2.2% 22.6%
NMEB7VFOh—F Y 156.0 1.0% 78.0 1.9% 50.0%
Xl 14,938.2 4,103.1 27.5%
FLEBEROMCEHESW-EESRST A E (BA{s1: kg-CO2)
EEIX 2> ERREE BRI IE TR 25 B IE
BEX 44295 1,579.9 35.7%
EPDP 9,944 2,352 23.6%
NRAEDET 564.7 171.6 30.4%
=11 14,938.2 4.103.1 27.5%




